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LALIGERD | LALAGERD | LA edE R 3 2 £ MR E
§ VEURME) | Ty | B 5 B B % &t | AEE | AMBE | | TR
BERAT =
Bz |ock=18N/mm’ m3 m3 & Bt 48. 42 48. 42
70—+ 48. 42 48. 42
BH®mzay m2 m2 & & 24.92 24.92
e — R 24. 92 24. 92
a2%9 ') — M o ck=24N/mm’ m3 m3 & Bt 73.05 73.05
JERR 33.75 33.75
EREE 27.49 27.49
foEE 4.79 4.79
BEMRZ A 1.50 1.50
b e 2.37 2.37
TR 1.86 1.86
aEaVH Y — b 1.29 1.29
B m2 m2 & & 111.33 | 111.33
&R — AR B 23.50 23.50
BREE — R E 46.01 46.01
foBE — R R 13. 35 13.35
BEMRZE | —RER 5. 49 5.49
L AIER | —AeE 10. 89 10. 89
TiRAIERE | —pRE 8. 84 8. 84
BEaVH)— | —HEEIR 3.25 3.25




535 SD345 t ke & & 3, 445 3, 445
D13 752 752
D16~D25 2,693 2,693
MR & ¢ 150mm & i 4. 68 4.68
| 4. 68 4.68
Bi5T B R 15 #m2 | #m2 = B 115.5 115.5
H=30m 115.5 115.5 H:EiER
B
XRT A THR— b ZZm3 | ZEm3 & & 11.3 11.3
H< 4m AOKN/m2 =W | 8.4 8.4 H: E 1458
H<4m 40KN/m2 < W= 60KN/m2 2.9 2.9 Em




SABEHETES
3-1. R{AT
1) B®zavs)— b+ (ock=18N/mm?)

LiRimmigal= 5.600 x 1.300 + 3.000 x 0.900

= 9.980 p?
MR EmEf&a2= 5.600 x 0.700 4+ 2.500 x 0.800
= 5.920 p?
TiRimmiEad= 2.000 x 1.000 = 2.000 p
3.430 x 0.100 = 0.343
a3 = 2.343
V: 9.980 x 2.500 = 24.95 p’
LA
1/2 x ( 9.980 + 5.920 ) x 0.210 = 1.67 p
5.920 x 3.000 = 17.76 p’
FL R LA
1/2 x ( 5.920 + 2.343 ) x 0.150 = 0.62 p’
2.000 x 1.490 + 0.343 x 1.290 = 3.42 p
TRarS
V= 48.42 p’
2) Bz ) — FEE (—RRER)
AiESREmEiEa= 2.200 x 2.500 = 5.500
1/2 x ( 2.200 +
1.500 ) x 0.210 = 0.389 p?
1.500 x 3.000 = 4.500 p?
1/2 x ( 1.500 +
1.000 ) x 0.150 = 0.188
1.000 x 1.490 = 1.490
a = 12.067
A= 9.980 + 2.343 + 12.067 x 1.04403 = 24.92

£ TR BIE



3) avsy—+r (ock=24N/mm?)

a. [Ehi

vi= 5.000 x 1.000 x 6.750 33.75
b. EXEE
v2= 1.400 x 2.909 x 6.750 27.49
c. e
AiEmiEal = 1/2 x ( 1.548 4+ 1.549 ) x 0.624
+ 1/2 x ( 1.549 4+ 1.591 ) x 2.611
+ 1/2 x ( 1.591 4+ 1.558 ) x 2.633
+ 1/2 x ( 1.558 4+ 1.560 ) x 0.636
= 10.203 p?
EHEmEiga2= 1/2 x ( 1.545 + 1.546 ) x 0.621
4+ 1/2 x ( 1.546 + 1.588 ) x 2.598
+ 1/2 x ( 1.588 4+ 1.555 ) x 2.618
4+ 1/2 x ( 1.555 4+ 1.556 ) x 0.632
= 10.128
v3: 1/2 x ( 10.203 + 10.128 ) x 0.500 5.08 e
AIEE R TEmEE
— 0.110 x 0.500 x 1/2 x ( 5.244 4+ 5.216 ) -0.29 e
HiEEERZRIT®OV V) — 5y
v3 4.79 m3
d. BiEMRZ &
WrEfgal = 1/2 x ( 0.300 + 0.800 ) x 0.500
= 0.275 p?
vi= 0.275 x b5.44] 1.50
e. LinfAIERE
S\EmiEal= 1/2 x ( 0.700 + 2.584 ) x 2.800
= 4.598 p?
ANEmiEa2= 1/2 x ( 0.700 + 2.509 ) x 2.687
= 4.311 p
vb= 1/2 x ( 4.598 + 4.311 ) x 0.500
SEmEE NEEE
+ 1/2 x 0.513 x 0.500 x 1.102 2.37 nt

NF (@BSEFEHS)



f. FiRAIEEE

SNEmigal= 1/2 x ( 0.700 + 2.246 ) x 2.300
= 3.388 p?

NEmEigal= 1/2 x ( 0.700 + 2.309 ) x 2.395
= 3.603 p?

v6= 1/2 x ( 3.388 + 3.603 ) x 0.500
SVE AR NEEE

+ 1/2 x 0.509 x 0.500 x 0.914 = 1.86
NUF (BEERFEHS)

g BEaY)—+
vi= 1.460 x 0.900 x 0.322
4+ 1.510 x 0.900 x 0.349
+ 1.420 x 0.900 x 0.306 = 1.29
h.arsy—+r&&

Vi=vi4+v24+v3+vd+vb4+v6+v7 = 73.05

4) B (—HRER)

a. [k
al= ( 5.000 4+ 6.750 ) x 2 x 1.000 = 23.50
b. BXEE
a2 : ( 1.400 4+ 6.750 ) x 2 x 2.909 = 47.42
— 1/2 x ( 1.029 4+ 0.954 ) x 0.513 = -0.51
FRAZEREDELRY
— 0.513 x 0.612 = -0.31
FRBZERNCFEDERY
— 1/2 x ( 0.700 4+ 0.763 ) x 0.509 = -0.37
ThRAZERLEDELY
— 0.509 x 0.424 = -0.22

THREERNFEDERY

a2 = 46.01



c. ffg&E

a3: 10.203 + 10.128 = 20.33
i E E 1A HEEE
0.529 x 1/2 x ( 1.560 + 1.556 ) = 0.82
ERAIER
0.519 x 1/2 x ( 1.548 + 1.545 ) = 0.80
TREER
— 0.110 x ( 5.244 + 5.216 )
+ 0.110 x (0.528 4+ 0.519 ) = -1.04
BiEEERRITEa VYU — 5
— 0.800 x b5.447 = -4.36
BHRZEENERY
— 1/2 x ( 1.556 + 1.555 ) x 0.513 = -0.80
LtRAIREEOELY
— 0.240 x 0.513 = -0.12
EREBERNVFEDERY
— 1/2 x ( 1.545 + 1.546 ) x 0.509 = -0.79
ThREREREDOEALY
— 0.240 x 0.509 = -0.12

TREBRNVFEOERY
— ( 1.460 x 0.322 + 1.510 x 0.349

4+ 1.210 x 0.306 ) = -1.37
BEaVI)—bEDERY

a3 = 13.35
d. Bz 4
ad= ( 0.300 + 0.500 x ¢y 2) x b5 447 = 5.49
e. Li{AIZEEE
ab: 4.598 + 4. 311 = 8.91
S EmEE NE EE
0.640 x 1.102 + 1/2 x 0.513 x 0.500 = 0.83
NDTF - NVFTH
0.700 x 0.500 = 0.35
S imin Em
1/2 x { 4 ( 2.800 2 + 1.867 ?2)
+4y (2687 2+ 1.792 2) } x 0.500 = 1.65
THE
— 0.513 x 1.102 = -0.57
NUFEDERY
— 0.275 x 1.025632 = -0.28
BEMRZE EDERY

ab = 10.89



f. FiRAIEEE

a6: 3.388 + 3.603 = 6.99
S EmiE ANEmEE
0.784 x 0.914 + 1/2 x 0.509 x 0.500 = 0.84
INUTF - N\VFTHE
0.700 x 0.500 = 0.35 p?
SRR E M
1/2 x { y ( 2.300 2 + 1.533 2)
+ (239 2 4+ 1.59% 2) } x 0500 = 1.41
TmE
— 0.509 x 0.914 = -0.47
NVFEDERY
— 0.275 x 1.01789 = -0.28
BEMRZELEDELRY
ab = 8.84
g BEaVHY—
al= ( 1.460 4+ 0.900 x 2 ) x 0.322
+ ( 1.510 + 0.900 x 2 ) x 0.349
+ ( 1.420 4+ 0.210 4+ 0.900 x 2 ) x 0.306 = 3.25
g BIg&Et
Al=al+a2+a3+ad4+ab+ab+a7 = 111.33 n?

5) A5 (SD345)

AMEBEEEmRZESR (BE4I - kg)
= wx | bhmEe | Theme | OB s s | wo o
D25 499 0 0
D22 410 0 0
D19 526 0 0 2692. 6
D16 1129 58 46 24. 6

574 80 63
D] 3 0 21 1 4 752 H— K L—IL#3A
Tuh-fn (SD345)
T &R {8
Al D16 x 510 n=212 D16 x 240 n=217K

W=1.560x0.510x 21=16. 7kg

6) ARERZR ($150)

W=1.560x0. 24 x 21=7. 9kg

4.68 m




) BHET (BHAEH. H=30m) TRZEZR

A= 45 x ( 89 + 278 + 1.8 + 230

+ 3.8/ + 1.4 + 1.31 + 316 )

115.5  #n?
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1200500 1400 5001200
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N = N
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- [ 1] | 8
t - 1200 50( 6750 001200
l—J 8950
8) XIRT
a. I\ THR— FZET WS40KN/m® H<4m
Vi 1/2 x ( 3.149 + 3.649 ) x 0.500 x 4. 425 = 1.5 =
BEMEZATE
1/2 x 0.640 x 0.500 x 2.297 = 0.4 =
ERAERNCFTE
1/2 x 0.784 x 0.500 x 2.485 = 0.5 =
THREAZENVFTE
Vi= 8.4 o
b. /A THHR— FZIFET  40KN/m2<W=60KN/m’> H<4m
V2. 1/2 x { 1/2 x ( 1.880 + 3.747 )
+ 1/2 x ( 1.955 + 3.747 ) } x 0.500 = 1.4 gz
FHRAERTE
1/2 x { 1/2 x ( 2.209 + 3.742 )
+ 1/2 x ( 2.146 + 3.742 ) } x 0.500 = 1.5 =
TiRAIZERET@
V2= 2.9 o
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HELC v+ m3 49.8

gt it m3 5.1

LD SEE 7% AL PR m3 56. 0

H 7% AP m3 56. 0

aryyy—r7
SR Jin

avs7Y—h7n

v J ff~7 v > 7, t=35m m2 94.5

HADK RC-40 m3 48.6

A= 27—

k o ck=18N/mm2 m3 20. 8

H ks TF XH A [ t=10mm m2 3.3

25T HAEER Y Hm2 64. 0

K=y 7 J—h m3 1.9 s i@
a7V —h m 27.4 FEA
AR - BERE [3/))-F m3 3.0




RN

3

EFETITHEESEX

<

k\ ‘%\\ inl
013, 100 GELBE il 48 228 Vhecrs
5 . ome9 2867
A 23. 66

2384

it sl
7 EAN
R ‘g"l““
%

| A

e
-

FFLS
A
£ox
7 ‘a““ﬂ\ \“'ﬁ}
7D
/BT )
Q'V

s

(€D 1)
o 7

/ )O
e //
e // ’
A

L

MemIavs
(2 & 350m)

fm
SHELA R
_I_(
=
E
8
ol
| RC-40
o \
= \EiaL sy —r
o
4k
EEIE: >7 IJ_ I‘ $=1:2
/ /
. 0.3
b, / ;
/ /
avyy—=hk ;
ock=18 N/mm ‘ / !l . /
/ / o /
e X | )
i — =
Loy y—t
ock$18 N/mm2
0.10 0.43 .10
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NERATS L —
o ok=18 N/mm2

NBEITYI RSy

Kiga2)— bk siw

0.73
Qv U—F
o ck=18 N/mm2
/ /
/ / /
7 7 ;
/ / /
Rima>o2J—Fk (10.0m%5 Y )
avoy—r o ck=18 N/mm2 0.73 m3
NI ) 1.10 m2
B #h # t=10mm 0.07 m2

MO - FREE s
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avy—+k ock=18 N/mm2 0.83 m3
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0/30 EHED L2 Y— b L=27.35n 0,30 0/30 HEEo o ) — b =23 04n 0,30
BRIV U— kIO EAHEE EgRavo)—rJoy oA EE
1/2x(9.0949.07) x3.75 = 34 05m2 1/2%(0.58+0.94) x3.75 = 2 85m2
6.75x3. 48 = 23.49m2 1/2x (3.1543.41) x3.75 = 12.30m2
0.73x3.75 = 2. 74m2 8.94x3 48 = 31.11m2
1/2% (5.53+7.36) x3.75 = 24. 17m2 9.75x3.75 = 36. 56m2
3.44x3.75 = 12, 90m2 -22.42x0.11 = -2.4m2
~95.54x0. 11 = 0. §1m2 A= 80 /2
A = 94, 54m2
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LIp5 1.06
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INEIEE Y 7.75 m2
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HmEIE 0.32 m2
TEE (UL FHESH B - ) BREERHEEW
BRIRE (=) FFHEERER
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8.3 EEFRIHETREE
8.3.1 BRERET
DEEII)—F
L= 27.35 = 27.35

a) 27 J—1 (ock=18N/mm?)

V= 0.83 X 27.35 / 10.0 = 2.27
b) g
A= 3.50 X 27.35 / 10.0 = 9.57

O¥Lar 27 V—1 (ock=18N/mm®, t=10cm)
V= 0.63 X 27.35 / 10.0 = 1.72

d) #HJL =R

A= 2.00 X 27.35 / 10.0 = 5. 47
e) Hits
A= 0.08 X 27.35 / 10.0 = 0.22

2)aAvy)—rJAYIEH

A= 94.54 = 94.54
a) Mm7no vy

N= 100 X 94.54 / 10.0 = 945
b) EiADiA (FAEZ 7 v v 72 RC-40)

V= 514 X 9454 / 10.0 = 48.59
)i =2 U— bk (o ck=18N/mn’)

V= 2,20 X 94.54 /  10.0 = 20.80
d) H#ikf (t=10mm)

V=0.35 X 94.54 /  10.0 = 3.31



XRwaArvyy—+r
L= 25.54
a) 27 J—1 (ock=18N/mm?)

V=" 0.73 X 25.54 /  10.0

A= 2.20 X 25.54 / 10.0
c) HH#AS (t=10mm)

V=" 0.07 X 25.54 /  10.0

)N - R

a) 27 J—1 (ock=18N/mm?)
V= 1.04 X 3.00
b) ZUFE

A= 7.99 X 3.00

5) BiI5T (HEIEHR)

A= 94.54 — 1. 00 X 1.118

X

27.35

FHHEIIR & 0 _LE O mERR

25.

23.

63.

54

. 86

.62

.18

.12

97

96

Him®



8.3.3 AFREFRLIT
1) KIEE (A—T Ay )

V=" 4.3 X 10.19 + 2.2 X 6.75

+ 5.4 X 9,68 = 110.9 w’
2) EMEEIF
A= 6.64 / 10.0 X 28.25 = 18.8 w
3) BEL (Ci&)
V= 2.0 X 10.19 4+ 1.2 X 6.75
+ 2.2 X 9,68 = 49.8 w
4) %+ (GRAL)
V= 0.5 X 10.19 = 51 m
5) Ex
V= 110.9 — 49.8 — 5.1 = 56.0 m
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Efta 7V — b (BEEFELE)

/ / /
0.3% /
0.1
\ / / /
a9 1)— b
ook=18 Nmid || / /. /
- s/
{\! [ <o /
o ‘__7
= =ty
o
wLorol)—k
ock+18 N/mm2
.10 0.43 Q.10
(10. 0m*4 1)
4 7N i s BN brq oy &t B =X g iy
a7 U —F | ck=18N/mm’ n® (0. 25%0.43-1/2%0. 33%0. 15) X 10. Om 0. 83
FITR IR 1) mZ | (0.25+0. 10) X 10. Om 3. 50
BLar 27 U — kg ck=18N/mn’ m® 10.63x0.10%10. Om 0. 63
B o AR mZ 0. 10X 2% 10. Om 2.00
H H £f m> [0.83/10. Om 0.08
FEHEEIE mZ 0. 63X 10. Om 6. 30




oy V— b ay 7BAE (BF)

9,
030

Wwaro)—+k

RsnJowvs
(¥ z.35¢m)

a3 )—+hk

o ck=18 N/mm2

BEISYINYS Y

RC-40  a=1.84m2

HEEa91)—Fk

(10. 0m245 1)

ZZI ) B B | HAL ¥ =®& FH B K 4 i
ayyy—p HETEYZ #110.0m2/ (0. 25X0. 40) 100
7y 7 R $E % 35cm

o HAErS v | om | (1.84/3.58) X10.0m 5. 14
Al
TIRDRAT 157 Re-a0
fiirw =7 ) — k| g ck=18N/mm” m’ 2.20
H #1 #f m® | (0.35X3.58) /3.58 0.35




Kmar 7 )—b (EAFELE)

0.73
a2 1)—k
~ ock=18 N/mm2
S
[am]
= / //
/ / /
/ / /
(10. 0m*4 1)
4 R i s BANT br'q =% g B = g iy
a7 U—%F | gck=18N/mm’ m 10.73%X0.10X10. Om 0.73
FITR IINRIREE D) m 0. 11X2X10. Om 2.20
H Hi b

m> |0.73/10. Om

0.07




NA1E® - [BEE (B4 FILR)

K]
o™ o
o3 ©
[ap]
_|_|
=
=
o
o
LOY —
(aN]
o
— HyLaros)—=4k
o .05 1.06 ock=18 N/mm2
1. 07
VEEELD
4 7N i ¥ | AT brq oy &t B =X g Eis
a7 U —F | ck=18N/mm’ m® [(1/2% (0. 73+1.06) X 3.35+1/2X
(1.16+1.06) X0.25) X0. 30 0.98
A /NI Y 1 mZ [(1/2% (0. 73+1.06) X3.35+ 1/2X
(1. 16+1.06) X0.25) X2+(3.75+0.25) X0  7.75
YLz 7 ) — K ock=18N/mm2 m [1.07X0.10%0. 30 0.03
B o R 2 |1.07X0.10X2+0. 10X 0. 30 0. 24
JER HUE AR Hm2 | (3. 35+0. 25) X 1. 118X 0. 30 1.21
LR m |1.07X0.30 0. 32







Pl Hmoom # BAAT A e i ]
X
e+ T X
el
SRR D AfEIR, H=HI, +#wb m3 185.
el
BiElEk, HI<H=bm, +# m3 114.
B4R HI
CRElEt, bm<H=20m, +# m3 1
TR HEHI
AREIR, H=HI, m3 1.
TR HEHI
BREME, HI<H=5m, &K%+ m3 47.
B4R
CRENE, 5m<H=20m, &K%+ m3 10.
TREHRE m3 361.
HERELC Vi - m3 47.
HERELC Vi - m3 140.
FE B m3 172.
WRLavZ U —
~ o ck=18N/mm2 m3 0.
R—F A4 avy
J— m2 18. A AR Y




7N

BEF e

[Bn)

iz

T F il Il H & AL [FIIEIE:§ 5 A el B BRI fii

T8 - D) & .
RIRL #* 1
FR AR T L=1. 5m~4. 5m m 198.5
% 66
kg 11,910
L=5. Om~7. Om m 291.5
% 50
kg 17, 490
JEAE RPEL NESEENE=18 m 319.0
JEAR  #oE HRNE=T0 m 63. 5
SlIRER WHEL INETFHNE=18 m 319. 0
SlEE R HUE  HENE=T0 m 63.5
IR ER B =, 1

B - JEk L kg 22, 808 PR B B3R 01 2R
K+ H T = 1
KAl+o 5 ®$ 60

BERX MBS T = 1 R ES

5t s t 15.3 NREEFR02S R

w8 THdEE m2 108 NERE B R 03 ]
% AR S m 36




BEF e

iz

T F il Il H & AL FI{EIE= ¢ A [E B AT fii
BERRAE S =
v~ Mk 7 i B
L #Xf7 Co m3 21.
s k45 Co m3 21.
LGy k45 Co m3 21.
TRMR (11. 91+17. 49) + X I L. (18. 1+3. 98+0. 72) Tix &
IR KGNS » BT - 78 THR (5. 44+1. 77+5. 87) HREX E &%
IR 7. 98 t 73.
EENA - 78 TH (11.87+0.78+0.73+0. 23+
0.28+0. 15+22. 8) t 36.
KT
R THEK HEAKEOLL 40 (m3/h) K




Rt

f&B o EELT
&
ARG
Al O HAfL & &t L]
TR
SR8 D AfElE, H=H1, +W m3 185. 185.
TR IRHI
BfER, H1<H<bm, +#b m3 114. 114.
TR
CHREMK, Sm<H=20m, +#) m3 1. 1.
BB HRHI
AREIR, H=H1, #ki m3 1. 1.
TR
Bk, H1<H=5m, # 4 m3 47. 47.
BB HRHI
CHEtk, Sm<H=20m, #F m3 10. 10.
T ERE E m3 361. 361.
HERELC WAL 1=W<4m m3 47. 47.
HMERLC Wit Wmax=4m m3 140. 140.
IR T 7k AL m3 172. 172.
T 7k e m3 172. 172.
WRLa 7 U —
B o ck=18N/mm2 m3 0. 0.
R—=F 4 vary
Y — b A AR D AR m2 18. 18.
iEm e Zbl [fEEmEn bl m3 21.
TEHR ALY m3 21.




ALFE

L

GG - Pk L BESER

NERHE RO

=
[ 1.0 (4D
IH H H S H = X o7 AL = T
ESNR L
FEA
Mk L H-350 X 350X 12X 19 kg 6812 - SS400
S H-350 X 350 X 10X 15 kg 10490 - $S400
JFTG H-300 X 300X 10X 15 kg 800 - SS400
B E— R kg -
A EE kg 18102 -
B AL () KfI7ey 7 HY kg - E¥A4 B & X 0. 67
K¥T7 ey 7L kg 3982 - A B A X 0. 22
B AL (B) KfI7ey 7 HY kg - E¥A4 B & X 0. 06
KETT7 vy 7 WL kg 724 - A E X 0. 04
& i | kg 22808 -




o OB 3SEERE TR L
Tryvr o 3ERREETET

X A

RERHE K02

Eani

Ay y—|

o ck=18N/mm2

w

A R T
V1 = {(0.40+0. 80+1. 70)*1/2%1. 00+1. 338%0. 40} %7. 00

= 13.90

AR T
V2 = ((0.40+0. 80+2. 00)*1/2%1. 60+1. 338%0. 40} *7. 00

= 21.67

EVI~V2=13.90+21. 67 = 35.57

35.6  m3

g
BAFHEY

B R B T
AL = ((0.40+0. 80+1. 70) *1/2%1. 00+1. 3380, 40} =2
+(2.338+1. 338+1. 00*1. 1180 {HH) ) %7. 00 =

AR T
A2 = {(0.40+0. 80+2. 00)*1/2%1. 60+1. 338%0. 40} *2
+(2. 938+1. 338+ 1. 600% 1. 1180 (&LH) ) *7. 00

X A1~AZ=37. 53+48. 64 = 86. 17

37. 53

48. 64

86.2 m2

BRAR

5D345,D16

A AT
W=T9ke

R RIERET
W=T9kse

&3 79+79=158

158 kg

R

SD345, D13

e R RIETET
W=34ke

HRAIREET
W=34kg

GFF 34+34=68

68 ke

RET

Pl

e AR T

A3 = 2.338%7.00
HRAIERE T

A4 = 2.938%7. 00

= 16.37

= 20.57

X A3~A4=16. 37+20. 57 = 36. 94

36.9  fm2

REL
HAEER R

E R B T

A5 = 2.338%7. 00%1. 1180 ()
AR T

A6 = 2.938%7. 00%1. 1180 ()

= 18.30
= 22.99

2 Ab~AG=18. 30+22. 99 = 41.29

Hhm2




RER#HE KO3

PG— 1% #E (BEIEAR)
‘B B 6 (m) H R 18 (m} (9.0+9.0)
- 3HERER R 6 (m) EHTARE 4 (K)
EMRRR 2+2+2(m)
mBI—F S it = HLREEky ¥ B B8k # B S
5305020 if = #r PEG-9.0 1,484.00 8 11,872][SM490Y
6305060 R IER PSP-1 17.00 8 136[SM490Y
6305061 B2 PSP-2 21.00 4 84[sSm490Y
6305062 H 2R PSP-3 12.00 8 96[SM490Y
6305030 B4 PSB 52.00 15 780[33400
6305050[18 #& PLB-3.0 61.00 12 732]S3400
6305052|18 & PLB-1.5 39.00 3 234[S3400
6306070[H & PER-4.0 47.00 6 282355400
6305071\ & PER-2.0 26.00 6 156[SS400
6305083 | &M E#iM  |PCB-L 22.00 20 440[STKR400
6305160|ETHRIEEE  [PST 5.00 24 120[$3400
6512110|2% FE KSB 43.70 8 350[SCwW480
6305100 |EE7 0y PFB 6.00 8 48|FCD450
6305106 |al &7 Ov4 PMB 3.00 8 24|[FCD450
M FE I 15,354
5000020 Tk MD-1.0X2.0 424.00 54 22.896
N =T 2 22896
8305122 | FAE M A PGS-2 15.00 20 300[STK400
6305135 [BfEfHEME -4 [PGM-4.0B 46.00 12 55235400
6305136 |BFIE[GEME —L [PGM-2.0B 24.00 4 9635400
6305137 |BIERAEME—L [PGM-1.5B 19.00 8 152[$5400
6305140 |4#1E"—4 PGM-E 7.00 8 5688400
6305180 |FFEEME K PHR-4.0 24.00 6 144]53400
6305181 [[FEEME KR PHR-2.0 12.00 2 2433400
6305182 |FEMS & PHR-1.5 10.00 4 40[S3400
63051 70| FGSE Ml L PGF 1.00 20 20|3S400
6305150|7 37k PGR 1.00 40 49|S$400
NG 1,424
6703010]7h— KSU-AN 3.00 32 96[SS400
6701040 K ILE KBN-24X60 0.36 19 7
63071 14| (TR PBN-22X95 0.66 135 89 3H5—X
6307117 | {TUR I PBN-22X70 0.59 150 89 37—
6701025 {TUf Ik KBN-22X20 0.59 50 30 I r—2R
§701029|AfFUfR Ik KBN-22X60 053 240 127 4 7=
6703035 | Tulk ILbAv%) |KBN-22X80G 0.59 100 59 2—R
6701016 |/ FuiR b KBN-20X55 0.37 85 31 1 7—A
6307106] & WFFE PBN-20X150 0.53 63 33
6307101 & WFFYE PBN-16X35 0.4 244 34
6307001 FJZFEY PPN 1.00 8 8|s45C
/M7 4 603
= =T 40,277](kg)
3EEEEMrIE L3 TE X
18000
T T T I I TT T 1!
L | | \ \ [ | [ ]
CH I | f f i i b | 1
T ‘ T T T % T

1338

8700 8700

00 X B & 17400 00




3.2 HXRIR (RISHRMT 2MMHUERUHESR)
1) SRARIME (SY295)
L = 1.50m ~ 4.50m (EEH)
L= 50m ~ 7.00m (Y—2=)
HATE & = 60.0 kg/m

PR (A-AWTHEIIX])

RIS D (R HRBIBCE Y (U —AH)
& JER & HE JER e HE
(m) ) (kg) (m) ) (kg)
1 4.00 1 240. 00 - - -
2 4.00 1 240. 00 - - -
3 4.00 1 240. 00 - - -
4 4.00 1 240. 00 - - -
5 4.50 1 270. 00 - - -
6 4.50 1 270. 00 - - -
7 4.50 1 270. 00 - - -
8 4.50 1 270. 00 - - -
9 - - - 5. 00 1 300. 00
10 - - - 5.00 1 300. 00
11 - - - 5.00 1 300. 00
12 - - - 5. 00 1 300. 00
13 - - - 5. 00 1 300. 00
14 - - - 5.50 1 330. 00
15 - - - 5.50 1 330. 00
16 - - - 5.50 1 330. 00
17 - - - 5.50 1 330. 00
18 - - - 6. 00 1 360. 00
19 - - - 6. 00 1 360. 00
20 - - - 6. 00 1 360. 00
21 - - - 6. 00 1 360. 00
22 - - - 6. 50 1 390. 00
23 - - - 6. 50 1 390. 00
24 - - - 6. 50 1 390. 00
25 - - - 6. 50 1 390. 00
26 - - - 6. 50 1 390. 00
27 - - - 7.00 1 420. 00
/NEF | 34.00 8 2040.00 [ 110.50 19 6630. 00




PR (B-BWTiAiIX])

R IBCE D (R HRBIBCE Y (U —AH)

& IR & HE JE R & H&E

(m) G (kg) (m) G (kg)
28 1.50 1 90. 00 - - -
29 1. 50 1 90. 00 - - -
30 2.00 1 120. 00 - - -
31 2.00 1 120. 00 - - -
32 2.00 1 120. 00 - - -
33 2.00 1 120. 00 - - -
34 2.50 1 150. 00 - - -
35 2.50 1 150. 00 - - -
36 2.50 1 150. 00 - - -
37 2.50 1 150. 00 - - -
38 3.00 1 180. 00 - - -
39 3.00 1 180. 00 - - -
40 3.00 1 180. 00 - - -
41 3.00 1 180. 00 - - -
42 3.50 1 210. 00 - - -
43 3.50 1 210. 00 - - -
44 3.50 1 210. 00 - - -
45 3.50 1 210. 00 - - -
46 4.00 1 240. 00 - - -
A7 4.00 1 240. 00 - - -
48 4.00 1 240. 00 - - -
49 4.00 1 240. 00 - - -
50 4.00 1 240. 00 - - -
51 4.50 1 270. 00 - - -
52 4.50 1 270. 00 - - -
53 4.50 1 270. 00 - - -
54 4.50 1 270. 00 - - -

NEE 85. 00 27 5100. 00 0. 00 0 0. 00




PR (C-CHTTRIIX])

R IBCE D (R HRBIBCE Y (U —AH)
& IR & HE JE R & H&E
(m) G (kg) (m) G (kg)
55 - - - 5. 00 1 300. 00
56 - - - 5. 00 1 300. 00
57 - - - 5. 00 1 300. 00
58 - - - 5. 00 1 300. 00
59 - - - 5. 00 1 300. 00
60 - - - 5. 00 1 300. 00
61 - - - 5. 00 1 300. 00
62 - - - 5. 50 1 330. 00
63 - - - 5. 50 1 330. 00
64 - - - 5. 50 1 330. 00
65 - - - 5.50 1 330. 00
66 - - - 5.50 1 330. 00
67 - - - 5.50 1 330. 00
68 - - - 5.50 1 330. 00
69 - - - 6. 00 1 360. 00
70 - - - 6. 00 1 360. 00
71 - - - 6. 00 1 360. 00
72 - - - 6. 00 1 360. 00
73 - - - 6. 00 1 360. 00
74 - - - 6. 00 1 360. 00
75 - - - 6. 00 1 360. 00
76 - - - 6. 00 1 360. 00
77 - - - 6. 50 1 390. 00
78 - - - 6. 50 1 390. 00
79 - - - 6. 50 1 390. 00
80 - - - 6. 50 1 390. 00
81 - - - 6. 50 1 390. 00
82 - - - 6. 50 1 390. 00
83 - - - 6. 50 1 390. 00
84 - - - 7.00 1 420. 00
85 - - - 7.00 1 420. 00
/L 0. 00 0 0. 00 181. 00 31 10860. 00




Pl A (DDA IX])

R IBCE D (R HRBIBCE Y (U —AH)
& IR & HE JE R & H&E
(m) G (kg) (m) G (kg)
86 1.50 1 90. 00 - - -
87 1. 50 1 90. 00 - - -
88 1. 50 1 90. 00 - - -
89 1. 50 1 90. 00 - - -
90 2.00 1 120. 00 - - -
91 2.00 1 120. 00 - - -
92 2.00 1 120. 00 - - -
93 2.00 1 120. 00 - - -
94 2.00 1 120. 00 - - -
95 2.00 1 120. 00 - - -
96 2.00 1 120. 00 - - -
97 2.50 1 150. 00 - - -
98 2.50 1 150. 00 - - -
99 2.50 1 150. 00 - - -
100 2.50 1 150. 00 - - -
101 2.50 1 150. 00 - - -
102 2.50 1 150. 00 - - -
103 2.50 1 150. 00 - - -
104 3.00 1 180. 00 - - -
105 3.00 1 180. 00 - - -
106 3.00 1 180. 00 - - -
107 3.00 1 180. 00 - - -
108 3.00 1 180. 00 - - -
109 3.00 1 180. 00 - - -
110 3.00 1 180. 00 - - -
111 3.50 1 210. 00 - - -
112 3.50 1 210. 00 - - -
113 3.50 1 210. 00 - - -
114 3.50 1 210. 00 - - -
115 3.50 1 210. 00 - - -
116 3.50 1 210. 00 - - -
2Nl 79.50 31 4770. 00 0.00 0 0. 00
&5k | 198.50 66 11910.00 | 291. 50 50 17490. 00




JEA - SRS (A-AWTIE X))

i KA EA K (m) 5l & S (m)
& A WA b WA
IIEEEINfE=18] #EIN{E=70 [IEFEENE=18] #H N{K=70
1 3.01 0. 57 3.01 0. 57
2 3. 14 0. 56 3. 14 0. 56
3 3. 27 0. 56 3. 27 0. 56
4 3.39 0. 56 3.39 0. 56
5 3.51 0. 56 3.51 0. 56
6 3. 63 0. 56 3. 63 0. 56
7 3.75 0. 56 3.75 0. 56
8 3. 87 0. 56 3. 87 0. 56
9 3.99 0. 56 3.99 0. 56
10 4. 11 0. 56 4. 11 0. 56
11 4.22 0. 56 4.22 0. 56
12 4.33 0. 56 4.33 0. 56
13 4.44 0. 56 4.44 0. 56
14 4.55 0. 56 4.55 0. 56
15 4.53 0. 56 4.53 0. 56
16 4.42 0. 56 4.42 0. 56
17 4.31 0. 56 4.31 0. 56
18 4. 20 0. 56 4. 20 0. 56
19 4. 09 0. 56 4.09 0. 56
20 3. 98 0. 56 3. 98 0. 56
21 3.91 0. 56 3.91 0. 56
22 3. 96 0. 56 3. 96 0. 56
23 4.00 0. 56 4. 00 0. 56
24 4.11 0. 56 4.11 0. 56
25 4.23 0. 56 4.23 0. 56
26 4.34 0. 56 4.34 0. 56
27 4. 46 0. 56 4.46 0. 56
/NEE 107.75 15. 13 107.75 15. 13




JEA - SlHkE  (B-BWTiE X))

i KA EA K (m) 5l & S (m)
& A WA b WA
IIEEEINfE=18] #EIN{E=70 [IEFEENE=18] #H N{K=70
28 0.76 0. 56 0.76 0. 56
29 0. 89 0. 56 0.89 0. 56
30 1.02 0. 56 1. 02 0. 56
31 1. 15 0. 56 1. 15 0. 56
32 1.26 0. 56 1.26 0. 56
33 1. 38 0. 56 1.38 0. 56
34 1.50 0. 56 1.50 0. 56
35 1.62 0. 56 1.62 0. 56
36 1.74 0. 56 1.74 0. 56
37 1.86 0. 56 1.86 0. 56
38 1.98 0. 56 1. 98 0. 56
39 2.10 0. 56 2.10 0. 56
40 2. 22 0. 56 2.22 0. 56
41 2.34 0. 56 2. 34 0. 56
42 2. 46 0. 56 2. 46 0. 56
43 2. 58 0. 56 2. 58 0. 56
44 2.70 0. 56 2.70 0. 56
45 2. 82 0. 56 2.82 0. 56
46 2.79 0. 56 2.79 0. 56
47 2.11 0. 56 2. 11 0. 56
48 1.91 0. 56 1.91 0. 56
49 1.93 0. 56 1.93 0. 56
50 1. 96 0. 56 1. 96 0. 56
51 1. 98 0. 56 1. 98 0. 56
52 2. 06 0. 56 2.06 0. 56
53 2.14 0. 56 2. 14 0. 56
54 2.23 0. 56 2.23 0. 56
/NEE 51.49 15. 12 51.49 15. 12




JEA - SRS (C-CHrimX)

i KA EA K (m) 5l & S (m)
& A WA b WA
IIEEEINfE=18] #EIN{E=70 [IEFEENE=18] #H N{K=70
55 2.31 0. 54 2.31 0. 54
56 2. 38 0. 54 2. 38 0. 54
57 2. 45 0. 54 2.4b 0. 54
58 2.59 0. 54 2.59 0. 54
59 2.74 0. 54 2. 74 0. 54
60 2.8b 0.54 2.8b 0. 54
61 2.91 0. 54 2.91 0. 54
62 2.97 0.54 2.97 0. 54
63 3. 02 0. 54 3. 02 0. 54
64 3. 08 0. 54 3. 08 0. 54
65 3. 14 0. 54 3. 14 0. 54
66 3.20 0. 54 3. 20 0. 54
67 3. 27 0. 54 3. 27 0. 54
68 3.33 0. 54 3.33 0. 54
69 3. 38 0.53 3. 38 0.53
70 3.41 0.53 3.41 0.53
71 3. 44 0.53 3. 44 0.53
72 3. 46 0.53 3. 46 0.53
73 3. 49 0.53 3.49 0.53
74 3.51 0.53 3.51 0.53
75 3. 54 0.53 3. 54 0.53
76 3. 57 0. 53 3. 57 0. 53
7 3. 59 0. 53 3.59 0.53
78 3. 62 0. 53 3. 62 0.53
79 3. 74 0. 53 3. 74 0. 53
80 3. 86 0. 53 3. 86 0. 53
81 3. 98 0. 53 3. 98 0. 53
82 4.10 0. 53 4.10 0. 53
83 4.22 0. 53 4.22 0. 53
84 4.34 0. 53 4.34 0. 53
85 4. 46 0. 53 4.46 0.53
/R 103. 95 16. 57 103. 95 16. 57




JEA - 5lHkE  (D-DWriE X))

Bl R A A K (m) 51k E JER: (m)
&5 +wp A +#p O
INESENAE=18] R NE=70 [IIEFEHNE=18] HH NH=70
86 0.73 0.53 0.73 0.53
87 0. 80 0.53 0. 80 0.53
88 0. 87 0.53 0. 87 0.53
89 0. 94 0.53 0. 94 0.53
90 1.01 0.53 1.01 0.53
91 1.08 0. 54 1.08 0. 54
92 1.15 0. 54 1.15 0. 54
93 1.22 0. 54 1.22 0. 54
94 1.29 0. 54 1.29 0. 54
95 1.36 0. 54 1.36 0. 54
96 1. 44 0. 54 1. 44 0. 54
97 1.51 0. 54 1.51 0. 54
98 1.58 0. 54 1.58 0. 54
99 1.65 0. 54 1.65 0. 54
100 1.72 0. 54 1.72 0. 54
101 1.79 0. 54 1.79 0. 54
102 1.87 0. 54 1.87 0. 54
103 1.94 0. 54 1.94 0. 54
104 2.01 0. 54 2.01 0. 54
105 2.08 0. 54 2.08 0. 54
106 2.15 0. 54 2.15 0. 54
107 2.22 0. 54 2.22 0. 54
108 2.29 0. 54 2.29 0. 54
109 2.36 0. 54 2.36 0. 54
110 2. 44 0. 54 2. 44 0. 54
111 2.52 0. 54 2.52 0. 54
112 2. 59 0. 54 2.59 0. 54
113 2.67 0. 54 2. 67 0. 54
114 2.75 0. 54 2.75 0. 54
115 2.83 0. 54 2.83 0. 54
116 2.90 0. 54 2.90 0. 54
N 55. 76 16. 69 55. 76 16. 69
ait 318. 95 63. 51 318. 95 63. 51




1) TR 1.50m  ~  4.50m (S Hh)

9) WET#EE  5.00m  ~  7.00m (U —RF)

3) fE TAH  1.50m  ~  4.50m (EHEH)
N =

4) fETAHE 5.00m  ~  7.00m (U —R#)
N =

5) 'EH& 1.50m  ~  4.50m (EHEH)

6) B 5.00m ~ 7.00m (Y—2R%f)

) SRRIEAR (WE L INE Y NAE=18)
L:

8) #RMEANE (s : HH NE=70)
L=
9) SRS EE (WEL : INE Y NE=18)

L:

10) #RRGHRE K (#Cs « AR NE=T0)
L=

198.50 m

291.50 m

66 1%

50 £

11910 kg

17490 kg

318.95 m

63.51 m

318.95 m

63.51 m



3.3 REMREMET (RISHMNT MM BUERLRZSER)

1) ZEITFEEH (SS400) ') —R#t
£ X |H H|IARYUMVEE| A g &
I O m | ke/m) | (kg/7) (£) k) |
JEHC L H— 350 10. 55 150 1583 2 3166
JEHC L H— 350 12. 15 150 1823 2 3646
/NET 6812
B H—400 9.85 200 1970 3 5910
B H—400 11.45 200 2290 2 4580
/NEt 10490
KETH H—300 2.00 100 200 4 800
/NEt 800
& &t 18102
) W - KfTHIER U Vv v F - KFTHE—R (50cm) ZHEERLEZE S,

2) XRIEEHM (A

W= E= X 0.22

3) XRIEIEH (B)

W=TEHEE X 0.04

18102 X 0.22

= 18102 X 0.04

— 3982 kg

= 724 ke




#4202 RHMLK
o E R

A-A B-B
10800 10800
4X400 , 4X400, 5X400 _ 4X400  4X400 . 5X400 40 X400, 4X400 _4X400 _4X4Q0, 4X400 _ 5X400 __4X400
=1600 T=1600 T =2000 [=1600T=1600 T =2000 £80 =1600 T=1600"=1600 T=1600 T =2000 | =1600
L=4. 00n|L=4. 50m L=5.00m |L=5.50nL=6.00n L=6.50m =2, 00mL=2. 50m|_=3. 00m|=3. 50m{ L=4. 00m |L=4. 50n
L=].0om L1 sbo
XRIFER
Z.
4 29 31 33 35 37 39 41 43 45 47 49 b1 53
‘ 2225251 4 0 32 B4 36 B8 40 #2 44 M 5 _ ol <l
I e T U 25.100 = 10890
~ Niim T :ﬁi - 12 125850 1414 1761 3500 1761 1414 350125
~ ~ 27X400=10800
HRIRIE HH 4
1=3.50m AT K3THH-300x 300 x 10 15
™ $HZRAR B SS400 (J—Z#D)
=£.50m N=475 L=2. 00m
DL=20.00 - /IA g AJ
_’_-_______________________________\\_______ - th —:E:E:E:E—.&E—.&&E:&Eﬂﬂ’] -
N ~~ % Y I T [ @I%IRmE SY205
= | 1 pr = = ~
wEASR T~ i | | 1] N=T16% L=150m~7.00m
~___ = i | .
HEERER T~ e
d | |
1 1
=] | | D L H350x350x 1219
C-¢C D-D <l g i i m SS400 (1 —Z#)
= = = = g N=275 L=12. 15m
T 12400 £ TRl 12400 £ g |7 ' S— S S S
7X400 7X400 8X400 X400 2X40 4X400 . 7X400 7X400 X400 6X400 S T8 I
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